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General Instructions : E%E
1 Candidate must write his/her Roll Number on the first page of the Question Paper. f

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions

are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified

places will lead to disqualification of the candidate.
4 Write your Question Paper code No. 55/ESS/4, Set— on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,

Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the

Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for

any errors/mistakes in understanding the question will be yours only.
AT AR E5E
1 Theet YeT-UF & Ued NS WX AU TPk ey fad | "‘%
2 FUAT TT-TF &I A9 W {6 TeT-TF & FA Y631 a1 YA &l Iq of H&A & A 9o yes & qE9 HUX BY ¥ | 39 90 @
S off & o f5 ued i wT A ¥
3 Ia-gRaewr 7 TeaH-fag T sreEn e wel % sifafea w8 o ergwie fes w wdeandt @ srire sewEn SR |

4 e TER-gRael T YU # Hs g S5/ESS/4, we-[A] frg 1
5 (®) 999U daw FEQy/SES greag ¥ ¥ fRT of, afy onw AR @ T & ¢ fed ue wiwr ¥ ST Q€ gaha ®
¥t &Y, 3¢, deTal, S, afT, A, Bes, dai, AT, SieT, eI, Hiwolr, ARG, STafEr, Jur, HeH,
@ ofik T |
FUAT SA-gRaaT § fiw T o ¥ fae 75 enw few wiwr ¥ s T @ ¥
(@ af oy R ug oiEeh & srfafve fper o won F S foed ¥ A wed @ wuee ¥ g are gt / rafaar @ ey
Haw SId BRI |
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Time : 3 Hours]

ACCOUNTANCY
Le e

(Principles and Practice of Financial Accounting)

(fim @ & e W@ =@ER)
(320)

[Maximum Marks : 100

T ;3 "] [qUri® 100
Note : (1)  This Question Paper has two Sections - Section 'A' and Section 'B'.
(i) Attempt all questions of Section 'A'. Section 'B' has fwe options. Candidates
are required to attempt questions from ome option only.
(ii1)) Each question from Question Nos. 1 to 9 has four alternatives - (A), (B),
(C) and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in your Answer-Book against the
number of the question. No extra time is allotted for attempting multiple-
choice questions.
R : () WU dFAEE ¥ - e W T EE T | S
() @us O & G Ul @l '@ HCU T | @S ‘@ H A famey ¥ wdent¥ay
B B Th fabed b B YA & IAX T § |
(i) 99T @& 1 A 9 Th & UA® Wed H AR fasbed — (A), (B), (C) dar (D)
g, v o % Suge € | 9 faeedl § 9w AR g qom ofa Al
gRaeT ® WeT "em & 9 IaX fd | Sgakidd e & o erfare
g el S| S |
SECTION - A
gls — A
1 Subscription received by a Not for Profit Organization is an item of : 1
(A) Income (B) Expenditure (C) Asset (D) Liability

Th F-ATHGR] 6T SR I °e &l T 98 ¢ ¢

(A) oM

(B) =™ (C) =t (D) e 28
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2 What is not true about Single Entry System that is in this system ? 1
(A) Only one aspect of a transaction is recorded.
(B) For certain transactions both the aspects are recorded.
(C) Some transactions are ignored.
(D) For some transactions only one aspect is recorded.

Uhd Sfhd YOGl & Ty H 9 7ol & {6 39 Uk ¥ ¢

(A) WIeT % had Tk U &I Sffe@ Bl © |

(B) B WaeAl & I Ual B SAIWEA BT |

(C) PB WAeAl DI <@l D Sl 3 |

(D) @m&ﬂ\[%&oqm@qaaﬂaﬁﬁ'@?ﬁﬁmw%lgﬁ

3 The minimum number of persons required to form a partnership is : 1
TR & Tod & fu w7 4 A AT ge@dl @ Smasaswdr B 8, 98§
(A) 2 B) 7 ©) 10 (D) 20

4 A and B are partners in a firm sharing profits in the ratio of 3:2. C is 1

1
admitted as a partner for 5 share which he acquired equally from A & B,

sacrificing ratio will be :

AR B UH B H AEEN ¢ X AW H ST 3:2 % U A B 2

Caﬁmﬁ%m%ﬁqv@mﬂawﬁu&ﬂﬁmlwaﬁwﬁAaﬂTB

q SR qUER o @n sger B
(A) 3:2 B) 1:1 (C) 2:3 (D) 2:1

5 There is no partnership deed and one of the partners has given an advance 1
of Rs. 1 lakh to the firm. The partner will be allowed interest on this amount
at the rate of :
(A) 6% p.a. (B) 12% p.a.
(C) 18% p.a. (D) Market Rate
B AEEN do@ ol ¢ R TH WEER 4 BH @ 1 @ 5. ot fu )
3G TRT W gEER & = 59 3 § o s @' 3

(A) 6% dteh (B) 12% =i
(C) 18% diien (D) TR X ¥
6 The minimum persons required to form a public company is : 1
qrasi Bl & e & (g JAqH Al amey i
(A 7 B) 2 (©) 50 (D) 100 E%
7 Life Insurance Corporation of India is a 1
(A) Government Company (B) Private Company
(C) Public Company (D) Statutory Company
ARG Sied M1 7 %, wa
(A) ETBRI Husl (B) Tl Ut
(C) HrEI~eh bl (D) €= ha
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8 When the forfeited shares re-issued at discount the maximum discount that
can be allowed is :
(A) 5% of the face value of a share
(B) equal to the amount forfeited on such shares
(C) 20% of the face value of a share
(D) there is no maximum limit

e fopw @ osisht @1 AR W9 9 W fear Sar ¥ d S @ eiteeaw
L

(A) dis1 & Sifhd & & 5%

(B) 39 oislf & wisq fhU M WX W & W arer T

(C) dfsr & sifbd T &1 20%

(D) &g erfuaw W &

9 A company whose atleast 51% shares are held by the government is called

(A) Public Company (B) Private Company

(C) Statutory Company (D) Government Company

T HUA fEe FAaH 51% i @R b U e &, wedwl §
(A) WS Bl (B) Tl &a

(C) Jenfrer huy (D) TIH HU g%'g

10  From the following calculate the amount of subscription received to be shown in
the Income and Expenditure Account for the year ended up 315t December 2016 :

Rs.
Subscription received during 2016........c.cccveeveereennnnne. 18,000
Subscription outstanding on 31-12-2016 .........ccceeeveennnnee 2,000
Subscription received in 2016 for 2017 .....ccveeeevieennennnn. 1,000
Subscription received in 2016 for
outstanding amount of 2015 .......ccccoieeiiiiiiiiieiieeeee, 1,500
Subscription received in 2015 for 2016 ......cccccveeeveennnnne 2,500

ﬁﬁ%@ﬁ%ﬂ%ﬁwmmrﬁwﬁmﬁﬁﬂm@?zomﬁ
T Y % o FF W I S

a.
TY 2016 F TTD T eveeeeeeeeeeeeeeee oo 18,000
31-12-2016 @I MET TET..oovviieiriieieeeieeeieeeeeee e 2,000
T¥ 2016 ® 2017 & TTT WD T oovovieeiniieecieenenn, 1,000
2015 @1 ST &l 2016 H WK cooovveeiiieeeneeneennn, 1,500
2015 H 2016 & T WM T&T..ooooiiiiiiiiiieeeeee, 2,500 EgE

G
11  Differentiate between Reserve and Provision on the following basis :

(a) How is it created ?
(b) When is it created ?
(¢c) Its utilization

g X gy ¥ 7 % oY 9 ot} difvg
(@) 3H® god fpd Yok ¥ fopam wimar € 7

(@) z9®&1 o Ha fpar &@r T 7

([) IEHT SYAET hY BT & 7
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12

13

14

State any three issues that may arise when there is no partnership deed. 3

TEl fpegl A Tt H Swi@ B W @EEl e & 7 EH dl Rl o

Y1 & Fhal 2|

Alpha Ltd. purchased machinery for Rs. 80,000 on 15t April, 2014. 5
On 15t October 2015, it purchased another machine for Rs. 40,000. On 30th June
2016 it sold half of the machinery purchased on 15t April 2014 for Rs. 20,000.
Depreciation is charged @ 20% on the original cost of the machinery.

Prepare Machinery Account for 2014-15, 2015-16 and 2016-17. Accounts are

closed on 315t March every year.

Tl fd. 3 1 oma 2014 & . 80,000 § THh A @G 1 3ferREX 2015 &
39 T SR AN 6. 40,000 H W 30 S 2016 BT 38T 1 1A 2014 Bl WS

néqa‘hﬁés%ﬂmaﬁs.zo,oooﬁéaﬁmlquaﬁﬁaﬁlﬁww

20% @ T T AMET T T a9 2014-15, 2015-2016 T 2016-17 &1 AN @ran
FIEYI W U 99 31 A" @ S %Y 9§

Bahubali, a trader started business on 15t April 2016 with a capital of Rs. 50,000. 5
On 315t March 2017 his position was as follows :

Rs.
Cash ..ooooveeiieeeeeeeeeeeee 22,000
Debtors ..., 38.000
StOCK e 35,000
Furniture .....oooeeeeeeeeeiiee, 15,000
Creditors ..ovevvvvvvvveeieeeeeeeeeeieenee 24,000

et

During the year he withdrew Rs. 18,000 for his household expenses and introduced

Rs. 20,000 as fresh capital.

Ascertain the profit earned by him for the year ending 315t March 2017.
AR gl § 1 @ 2016 & B 50,000 H YST ¥ FER WA R

31 |9 2017 @ ST Rufg =1 &Y

!;0
{la;s ‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ 22,000
a lal{ ...................................... 38,000
~
EZW; ........................................ 35,000
q; iia { ........................................... 15,000

=

T¥ b I IE B, 18,000 HT IEIOT X WA & {@Q fRAr qUT B, 20,000 wH
3R ISl @S| I8 BT 31 A" 2017 @& g9 a9 % foau oifiq @ @ frafor

BT |
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15

16

17

A and B are partners sharing profits in the ratio of 3:2. C was admitted

t
as a new partner for % share which he acquired in A and B's old ratio.

C brought his share of goodwill premium in cash.
Goodwill of the firm is calculated at three years purchase of its super profit.
Other information is as follows :

Rs.
Capital Employed in the firm.......ccccoceeirennnnn. 3,00,000
Normal Rate of Return.........cccooeovveeeiiieiiieiiieecieen, 15% @@
Average Profit of the firm .........cccovviniiniinnnne. 65,000 @

Calculate goodwill of the firm and pass journal entries for the treatment of
goodwill premium brought in by C.

A ST B WEER ¥ ST @ @ o 3:2 % orgud ¥ w ¥ C B L
% fe Tar wEEr gaEr T e e A SR B % QXM @ orud # ferm
C U AN &l Tfa WikEd & TRT B qhe A g

Y H TG B TOFET SIHATT b 3 9¥ b Hd U Bl WMl B
&g o e R o

%
- e

BH A RITT GO s 3,00,000

AT Bl AT T v 15%  mum

TH B OGTT AT Lo 65.000 =

TH B A B TOET BT gor C BRI A% T8 S | &l AT & qHEms
B AoEEET graiedr sivg|

List the various restrictions on a private company. Distinguish between a
public company and a private company on the basis of : (i) Minimum number
of members and (ii) Name.

el ol I @MY 9 a1 gioqaal & giaas S| 7 & oTar 9% 9resite
HUAT R Tl el H oY ¥ARy () weel @l gAad "@e (i) A
Vee Bee Start up Ltd. forfeited its 500 shares, held by Mota Bhai of Rs. 100
each which were issued at par. Mota Bhai did not pay the allotment money of
Rs. 40 and first and final call of Rs. 20 per share. 400 of these shares were
reissued at Rs. 80 per share.

Pass journal entries of forfeiture of shares and reissue of forfeited shares in the
books of the company.

oA WE A9 T T 5. 100 UfF & Hier W & 500 St B T H foAm
TR T WX W R TWem am) AR 3 6. 40 Ui sier efmeed @l ol
T, 20 Ul sfeT guq wE SAH AT ART B PO Tl fwar anl 39 oo o
¥ 400 sfsll & T, 80 Wi ofer ¥ GAMTEA &Y fe@m T

afell % Wed WY AT ST AT MY Sfe &% AT DI B Dl @@ Jeadbi
H TomEr yfafedr st

5
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18 Make journal entries for the issue of 500, 10% debentures of Rs. 100 each 5
in the following cases :
(a) Issued at Rs. 100; redeemable at Rs. 100
(b) Issued at Rs. 110; redeemable at Rs. 100
(c) Issued at Rs. 100; redeemable at Rs. 110
(d) Issued at Rs. 90; redeemable at Rs. 100
(e) Issued at Rs. 90; redeemable at Rs. 110

= Rufoai & 5. 100 9fd & 500, 10% Fo9 & R &7 s giaear

BT
(@) % 100 X fws; % 100 9T Smed
(@) % 110 WX frEe; & 100 9 ofed
(M %. 100 9X fwiEs; %, 110 9X Smem
@) % 90 wx frfEe; % 100 T vem
® %. 90 X ;& 110 9X e E%E
19 X, Y and Z were partners in a firm sharing profits in the ratio of 2:2: 1. 6

Y died on 15t July 2017. From the following details prepare Y's Capital Account

so as to ascertain the amount payable to Y's legal representatives.

(a) Y's capital as per last Balance Sheet as on 315t March 2017 was Rs. 60,000.

(b) Y's drawings till date of death were Rs. 10,000.

(c) Profit upto the date of death was to be calculated on the sales upto date
of death at the rate of profit on last years sales, the rate was 15% on sales.
Sales from 15t April 2017 to 30th June 2017 were Rs. 2,00,000.

(d) There was a General Reserve of Rs. 25,000.

(e) Profit on Revaluation was Rs. 30,000.

() Goodwill of the firm was valued at Rs. 45,000.

(g) The firm had a joint life policy of Rs. 50,000.

X, YR Zus &1 & 9EER & R @9 &7 ameed 2:2:1 % U ¥ &d |
1 98 2017 & Y & g & | = e & Y & e ufatty @ <
TR @1 faer s ¥ T Y @ 9w AR @it

(@) 31 9" 2017 & few Rafq fqaxer & og@R Y @ gSil &. 60,000 &
@ Y @ gg @ fafy d% I@al emeler i B, 10,000 &

(M gg & oo a6 1 @ B e fed av @ fae oA @ o9,
Jg &l fafyr a% @ foehl o @ 9 o) fes woEE w15 % At 1 et
2017 & 30 S 2017 & P @bl & 2,00,000 &

) W EEd %, 25,000 &)

() TTAEET T @M T 30,000 FoNI SR

) WH @ ' B edied 6. 45,000 fEar @

(B) wH @ "gF a1 O 6. 50,000 o
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20

21

Vikram Commercial Drone Manufacturing Ltd. issued for public subscription
10,000 shares of Rs. 100 each at a premium of Rs. 20 per share. The amount
was payable as follows :

On application .........cceeeeeeveereeeveenneenne. Rs. 30 per share

On allotment........cccceeeevinieninnenieenee. Rs. 50 per share (including premium)
On First Call .....cooovvveiiiieeiieiieeiieene, Rs. 20 per share mug

On Second and Final Call ................... Rs. 20 per share @

Applications were received for 15000 shares. Allotment was made on prorata
basis to the applicants of 12000 shares. Remaining applications were rejected and
money returned. Excess money received with applications was adjusted towards
sum due on allotment.

Allotment and 15t call money was duly received except on 500 shares held
by Pintoo who did not pay the allotment and call money. His shares were forfeited.
Final call was not made.

Pass journal entries in the books of the company for the above transactions.

fape wasiaa g9 Agheatan fa. 3 %, 100 wfq & 10,000 it &7 AFHTEROT &
AWEE TG B 20 Wi sfer WitEw WX FeiEE fean
T B YAE 3 YR G R S oen

FTATT T oo, %, 30 9fa efer

BMHETT T oo %. 50 gfq it (Nfram wiufed)
TAH TATTAT T oo % 20 wf efer

fada wa srfam g/ W %, 20 wiq 9T E%E

15000 &t & fAQ TEET U<t Y1 12000 Si9T &% SEEHI DI SFJANTD STET
T aMeed foham TET| QW STEEHl @l TE Y [T AT qUT Sl Y @l & TSI
MO 9T YT oTfe T 1 ofeed UX 3 N1 § §uEitig &Y faar )

fiz & 500 sfslf & BEH W e T AT WA JYEA U B |
fiz 7 omdes Td are W B YIAE Tl fRar) I Sfell @ e B o
sifem gremr =& =i TR

SUUER WeAl DI HUAl bl W@l JEnl H o Yatedl sl

From the following Trial Balance of Gunakshi and Sisters as on
315t March, 2017 prepare Trading and Profit and Loss Account for the year
ended 315t March 2017 and Balance Sheet as on that date.

Trial Balance of Gunakshi and Sisters as on 315t March 2017

Name of A/c. Dr. Balance Cr. Balance

Rs. Rs.
Cash at Bank ....cccovvveveeiiiiiiiiiieeeieieeenns 20,000 .eeeeeiiiieiiiieieeeeeeee -
Capital ...cveeeeieeiieieceeee e eeeer————aaas 1,20,000
PUrchase ..., 84,000 ....coeeeeeiieieiiiiiiiieiiiiiaens -
SALES i s 1,65.000
Drawings .....ccceeeeveeevieeeiieeecieeeeeeevee e 12,000 .ccoeiiieiieeieeeieeee, -
Carriage Inward ........cccceeeeveevvenciieiieeienen, 1,500 i, -
WaES .o 12,000 .oooeiiiiiieiieeeieeee, -

10
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Bad DebtS...ccooiiiiiiiiiiiiieiiieeieeeeeeeeeeas 2,000 ..o, -

Stock (01-04-2016) ..covvveeeieieeiieieeenne 35,000 .o -
MOtOr Van ... 54,000 ..ciiieiiiieeiieeeee e -
Land and Building ........ccccccoevveeiieiiiennnnnn. 60,000 ..cooevierieieeiee e -
Salary ..cccvveeeieeiieeieeeee e 18,000 ..ccciieiieeiieiieeieeiene -
Goods and Service TaX ..ocoocevvevevvveviinnnnnnn. 8,000 v, -
INSUTANCE ... 4,500 i -
Salesmen's CommissSion ........cccceeeeeeeeeennn... 5,000 ccccoiiiiiiiiiiiiiiiiieieeeeeeees -
AdVErtiSEMENT ....evvveeeeeeeeeeeeeeeeeen 8,000 .....ooeiiiiiiiiiiiiiiiiiiiiieees -
DEDLOLS . 36,000 ...ouriiiieeeeeeeeiereeeeeee -
CIEAItOrS wovviiiiiieeeieiiieeeeeeeeeeeeeeee e e e ————— 35,000
3,60,000 3,60,000
Adjustments : ok o)
(i) Stock on 315t March 2017 was valued at Rs. 54,000 ol
(i1)) Wages outstanding were Rs. 2,000 muam
(iii) Insurance prepaid was Rs. 500 E%E

(iv) Loan was taken on 15t June 2016 @ 12% p.a.
(v) Depreciate Motor Van @ 15% and Building @ 10%.

el Uus fAed % 31 W™ 2017 @ 9 RU q@ge ¥ 31 W 2017 @ 9Erd
I¥ % U U TE @IH-EIN @A s9RY SR S9l [t @l Rufy e O sIRe
el o fed # awwe 31 9 2017 #

g F AW M 9 AW
Q. E3)

FB T BT oo 20,000 e -
T oottt ettt ettt eereresenereneraenes 1,20,000
T e 84,000 ..o, -
BT oo e, 1,65,000
FITETTT oo, 12,000 e -
TET BTTTH oo 1,500 oo -
HOTGR e+ttt ettt 12,000 oo -
FTITRL T oo 2,000 ..o -
RIBH (01-04-2016) oo 35,000 e -
AT T e 54,000 ..o, -
T TE FTT oo 60,000 <., -
T oo 18,000 ..o -
T TH FAT BT 8,000 ..o -
ATHT e 4,500 ..o -
TIhaehal BT BHIIT e 5,000 oo -
T e 8,000 <veveeeeeeeeeeee e, -
THETT e 36,000 oo -
TITETT e et 35,000
3,60,000 3,60,000
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A

(i) 31 A= 2017 & ®iH & T B 54,000 o

(i) o@d weIgd B. 2000 o

(iii)) Ydeq d@ 1 & 500 A

(iv) O @ 1 S 2016 & 12% afis & faer @ an

(v) HRX A9 9 15% B X U1 99 X 10% B X W &G @ B
OR | 3ty

The Receipt and Payment Account and additional information of North East

Cultural Society (Regd) for the year ending on 315t March 2017 is given

below. Prepare Income and Expenditure Account for the year ending on
315t March 2017 and Balance Sheet as on that date. E%‘%
&

Receipt and Payment Account of North East Cultural Society (Regd) for
the year ended 315t March 2017

Dr. Cr.
Particulars Amount | Particulars Amount
Rs. Rs.
Cash in hand and at Bank| 38,000 | Remuneration of Artists 8,000
Subscription 30,000 | Rent of costumes 16,000
Entrance Fees 2,000 | Remuneration of Musicians and
Life Membership fees 10,000 Choreographers 18,000
Fees from participants 12,000 [ Annual function expenses 18,000
Sales tickets 35,000 [ Expenses on
Grant in aid (from cultural shows 24,000
Ministry of Tourism) 40,000 | Competitions 14,000
Donations 30,000 | Office Expenses 6,000
Interest on F.D 3,000 | Motor Van Expenses 8,000
Publicity 15,000
Fixed Deposit with
Bank @ 15% p.a.
(on 01-07-2016) 40,000
Cash in hand
and at Bank 33,000
2,00,000 2,00,000

Additional Information :

(i)  Subscription outstanding on 31-3-2017 was Rs. 3,000 and received for
2017-18 was Rs. 2,000.

(i) On 15t April 2016 the society had furniture Rs. 12,000 and motor van
Rs. 40,000.

(iii)) Depreciate furniture by 10% and motor van by 15%. %E

(iv) Out of donations Rs. 10,000 were to be capitalized.

Y-SR dheald AEEel (FOl) b 31 "™ 2017 B FEC a9 % i T g
W qgT A gaar g & T ¥ 31 9™ 2017 B W 9y % fae e
=g gar 9T qur 34 Ot @ Rufg faewer an @il
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IR wedd AEES () Td YEE "
% fou

31 5= 2017 & A 99
Bl T | A i
a. a.
T T 9% H e 38,000 | B BT Fiaha 8,000
EEU 30,000 | HREEM &1 BT 16,000
AT 2,000 | EMABRI T HIAATET Bl
TS Feedl Jeh 10,000 | wfdawa 18,000
giaafiar wiry o o 12,000 | =nffepiea o =g 18,000
femel @1 faet 35,000 | Hipias HEHA 9T TG 24,000
g HAeT § gl 14,000
I Ferddl 3TEH 40,000 | wEteE =g 6,000
I T 30,000 | HEX 99 =9 8,000
WS ST 9 1o 3,000 | wER 15,000
¥ ¥ e 5 15 %
Tififer X (01-07-2016 ) 40,000
T 1@ §% § UHs 33,000
2,00,000 2,00,000
sfaftE &

(i) 31-3-2017 @ @@ =& . 3,000 @ 2017-18 &% fT wrar ==&t %, 2,000 Tl s
(i) 1 3T 2016 B HEREA % T BAEE . 12,000 TAT T I 6. 40,000 & 1
(iii) wAER WX 10% qUT AR AT U 15% STqAIU AT T

(iv) 9 TRT F & & 10,000 B T B Gelwor fmar E%EE

22  Deepika and Priyanka are partners sharing profit in the ratio of 4: 3. 10
On 315t March 2017 their balance sheet was as follows :
Balance Sheet of Deepika and Priyanka as at 315t March 2017

Liabilities Amount Assets Amount
Rs. Rs.
Bills Payable 28,000 Bank 29,000
Creditors 44,000 Debtors 40,000
Reserve 28.000 Stock 35,000
Capital : Investment 30,000
Deepika 80,000 Machinery 40,000
Priyanka 60,000 Building 45,000
Goodwill 21,000
2,40,000 2,40,000

9 th

On 15t April 2017 they admitted Maya as a new partner for 7 share in profit

which she acquired equally from Deepika and Priyanka. Other terms were as follows :
(i)  Stock is valued at Rs. 42,000; Investment Rs. 36,000 and Building Rs. 52,000.
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(i1) Machinery is depreciated by 10%

(iii) Create a reserve for bad and doubtful debts on Debtors @ 5%

(iv) Maya brings Rs. 50,000 as her capital and Rs. 20,000 for her share of goodwill.
Prepare Revaluation A/c., Partners Capital A/cs. and Balance sheet of the reconstituted
firm.

qMyeer o Rrder dEER § SR @Y & ofded 4:3 &% o9 H & &l
31 |1 2017 & Sl Rufd fgawor 3@ wa o ¢
At wd g fafa o 31 9= 2017 =&

EUGILY [T 5. Tt HT =.
Tafaus 28,000 ¥ 29,000
RS 44,000 ITER 40,000
gag 28,000 Wi 35,000
LIl IREE] 30,000
Ffet 80,000 AU 40,000
orgent 60,000 = 45,000
(SIS 21,000

2,40,000 2,40,000

mamonaﬁa—aﬁwaﬁamaémasmmma;wﬁm

fen 8 sew dfver wd e § sER sEy @ | o o 39 weR § ot
(i) ®ib & qedied o. 42,000; GEERT &1 . 36,000 TN W &1 B, 52,000
femar T

(i) WAL WX 10% STIAIU T 2 E%%

(iii) IR WX W™ UH Wiy FOUH & WU 5% B UEEH BT B

(iv) AR %. 50,000 Gt &% qAT €. 20,000 3O 9ET Bl T WREH & A

U ieT @I, el % Sl @ 99T 95 B9 @ Rafa feewer sEul
OR / @

Aditya and Rohit were partners in a firm and shared profits as 3 : 2.
They decided to dissolve their firm on 15t April, 2017. Their balance sheet as

on 315t March, 2017 was as follows : E%
Balance Sheet of Aditya and Rohit as on 315t March 2017 =

Liabilities Amount Assets Amount
Rs. Rs.

Capital : Machinery 60,000
Aditya 75,000 Furniture 15,000
Rohit 45.000 1,20,000 Investments 35,000
Bills Payable 25,000 Stock 40,000
Sundry Creditors 40,000 Sundry Debtors 45,000
General Reserve 25,000 Cash at Bank 35,000
Rohit's mother's loan 40,000 P&L Alc. 20,000
2,50,000 2,50,000
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The assets and liabilities were disposed off as follows :
(a) Assets realized

Machinery ......ccccceeeveeeveeieerneeennenne. Rs. 45,000
Furniture .......cccoevvvevvvvieeeeiiecnnneneen, Rs. 8,000
StOCK e Rs. 50,000 and
DEDBLOLS .evveveiiiieeeieeeeeieeeeee e Rs. 40,000

(b) Investments were taken over by Rohit at Rs. 40,000 and he agreed to
pay off his mother's loan.
(c) Bills payable were settled at a discount of Rs. 2,000 and creditors at a
discount of 20%.
(d) Realization expenses amounted to Rs. 4,000.
Prepare Realization A/c, Partners Capital A/cs. and Bank Alc.
e ofX ARed T ®H ¥ TR & oK @TH &l §ear 3:2 & gud | &l
g S=i 1 oWd 2017 & ®H & TEGA & MU fdEn 31 A 2017 H SAw
Refy Rraer frr om0 B
31 W 2017 & e qAn Afed & Rafa fEw

T KR qr KR
€. Q.
g LHIER 60,000
anfee 75,000 LRIy 15,000
fed 45,000 1,20,000 fafram 35,000
LRICLP] 25,000 wih 40,000
faf= weR 40,000 faf= 3eR 45,000
qo "@ag 25,000 3% ¥ Twe 35,000
Afed @ T B KT 40,000 Y B @ 20,000
2,50,000 2,50,000
Tofaal ¥ agel o duametl & faem e yer @ en
(@) THraal & Tl
AT e %. 45,000
TBATET oo e %. 8,000
LT OO %. 50,000 T
TTETT oo %. 40,000

(@) fatmm = Afed ¥ % 40,000 § & forar don 98 o191 W & FOT &b
YA & e wewa & Tl

@@ g fgw @1 fuem B, 2,000 & ST U qAT @9ERl @l MUeH 20% 9%
X fpar e

(@) ag«l == B, 4,000 g1 ste

Il @, FEER & Yol @ 99T 9% @ar SAEd|
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SECTION - B

g — q
OPTION - 1
e — 1

(Analysis of Financial Statements)

(fcra faazoti &1 fawerson)

Give the formula of Liquid Ratio.

@ U & gF Qg

From the following calculate Operating Profit Ratio.

State any five parties that are interested in the analysis of financial statements.

Ty fpl i vell @ Swi@ sy S R faaeen % s § s Ed ¥

Rs.
Revenue from operations (sales) ...... 1,20,000
Net Profit coeeeeeeeeeeiieiieiiiieeeeeeeeeieeeeeen, 15,200
Interest on Debentures ..........cccceeeneenn. 10,000
=1 & uiEee @W S & T B

€.
qieme (fasha) & ST 1,20,000
TS TMH oo 15,200
TS T R oo 10,000 =%

From the following information calculate :

(a)
(b)

Working Capital Turnover Ratio
Stock Turnover Ratio

Rs.
CASH s 24,000
Bills ReCEIVADIE .....eeeeeee e 10,000
Sundry DEbBLOTS ...cocuveeiieiieieeieeeee e 40,000
Opening INVENTOTY ....oooueiiiiiiiiiiieieeeeeeeeee et 35,000
CloSING INVENLOTY ...vveeviieiiieiieeieeieeeieeieeete et eereeaeeseaeeaeeenas 45,000
SUNdry Creditors ......ecveeeeciieeeieeeeee e e e 48,000
Cost of Cash Revenue from Operations ...........cccceeevveenneenn. 1,80,000
Cost of Credit Revenue from Operations ...........cccceeveneenne 1,20,000
Gross Profit on cost of Revenue from Operations................... 30% EE

5
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IS e e e 24,000
TTRIRTTTT oo 10,000
TITT BRI oo 40,000
FTERTE TEITIT .o, 35,000
BT TEITT e e e, 45,000
TR TITTEIT oo 48,000
R  ABE ST BT T weeeeeeeeeeeeeeeeeeeeeeeeeeeens 1,80,000
IREET & S ST B AT v 1,20,000
UREET § T Bl AN U FBHA AT eveeereeeeeeeeeeeeeennn,

From the following information calculate cash flow from operating activities :

Rs.

Net Profit as per statement of Profit and Loss
for the year ended on 315t March 2017 ...................... 2,60,000
Transfer to Reserve Fund ......cccoovveveviiiiviiiiiiieeeieeeeeneeeen, 50,000
Depreciation on Fixed Assets for the year .........cccc........ 60,000
Dividend paid ......ccccoeviiiieiiieiece e 50,000
Amortization of goodWill .........cccvvveeiiieiiiiiiiieeeeeieee 20,000
Profit on sale of fixed aSSELS ..ooveuvevviveiiiieiiiieiieeeeeeeeenias 25,000

The balances of the current assets and current liabilities as per Balance Sheet

as on 315t March 2016 and 31t March 2017 were as follows :

Particulars 31-3-2016 31-3-2017

Rs. Rs.
Cash and Cash equivalents.............. 2,30,000 ............. 2,54,000
Accounts receivable ..........cccceeeeei.. 1,80,000 ............. 1,60,000
INVentories ......cccovvvvvviiiiiiiiiiii, 1,70,000 ............. 2,30,000
Accounts Payable .........ccooevrrrenerrs 2,20,000 ...orcnc.. 2,40,000 =&
= o @ aiEm framstl § Uss yaw @l AT S

5.

31 A 2017 & @ETG 99 6 W BN fgaRer &

FTTATT B TTH oo 2,60,000
TUT BT T BEITTCIT oo 50,000
TY B WS TR TT BT v 60,000
TATHIIT BT T ot 50,000
TN STRARIT B TTZ oo 20,000
WE Al B IR T oo 25,000

E%
[y
=
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31 71 2016 3R 31 A9 2017 & Rafq foeren & oaR O @wfaal ok

o] egarstt & 9w fre g

IECEA| 31-3-2016 31-3-2017
<. 4.
THS T DS TAT cooveverrnnnen. 2,30,000 ............ 2,54,000
TS TG «vvveeeeereeereeeeeeeenns 1,80,000 ............. 1,60,000
TEIRTAT oo, 1,70,000 ............ 2,30,000
TTAT T oo 2,20,000 ............ 2,40,000 E%‘%
[
OPTION - II
e - 11

(Application of Computers in Financial Accounting)

(FgR F @ d@w 4§ am)

Name the two methods of calculating depreciation.

T MO @y o ot % A sdaEul

Explain in brief the following work sheet operations :
(a) Movement of cell pointer (b)  Short cut menu.

=1 adhslie afemeel @ 989 ¥ 9usmsy
(®) v FaAB B qAT @) snéwﬁfglﬁﬁ

State the various deductions to be made from the gross salary of an employee

to ascertain net salary payable.

9]

T & IAT BT LR HE & A HHA & Thd daT | DI ST Al =

Hfdl B @ DI |

Explain the advantages of preparation of reports using pivot table to the users. 5

fUege oiftoll & YT © SYIAETRdl & BF a1 ATl Bl Guie BiTd |

How is the shape outline changed ? Explain in brief.

Gl wa@r ® ufEad &e fear smar g7 "&w ¥ awsEg|

2,700+3

ST O O, 92



